Mile One: Statistical Data
Directions: Complete the road blocks as a group. Correctly getting through them will advance your team one
mile. Check your answers with Ms. Walsh.

1. Which of the following is one of the 5 values needed to make a box-and-whisker plot?
A. Mean Medicm C. Mode D. Mean Absolute Deviation

2. The table shows the sizes, in square feet, of a sample of eight houses from a neighborhood. House 5is a
renovated warehouse. What is the range of the sizes of the house ¢
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3. Find the mean and the mean absolute deviation of the following data set.
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A.Find the mean. X = 2l
B. Find the mean absolute deviation (m.a.d.). W.28&

4. Given the data set below, are there any outliers and if so, what are the outliers?

73,73, 74, 75, 75, 75, 77, 77, 77, 77. 78, 78,

A. 73,73, 74 SO Lonot Weaswye o c.o.ero-Q;
B. 78,78,89,90 -\'e.nol.cnu.k Shad Qv V. R¥ 34
Qe a0 Nedian

D. There are no outliers.
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The data set above shows 15 students' scores on a test. Describe the shape of the data distribution if the
student who scored 100 is not included in the data set.

[ L3 ' *
A. The data distribution is skewed left. 10 included 15 Skewed Prign
The data distribution is symmetric.
C. The data distribution is skewed right.

D. ltisimpossible to determine 1h%h0pe of the data distribution.
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Mile 2: Comparing Data

Directions: Compilete the road blocks as a group. Correctly getting through them will advance your team one
mile. Check your answers with Ms. Walsh.

Mr. Murray recorded the pulse rates for each of the students in his classes after the students had climbed a set of stairs.
He displayed the results, by class, using the box plots shown.

Pulse Rates
1. Which class had the highest upper quartile? Class 1 R
A. Class 1 C. Class 2 R | gy —
Class 3 D. Class 4
Class 3 .—m—0

2. Which class had the lowest IQR?  § Matlest Box Class 4 .-{:[]H_«
A. Class1 C.Class 2 PV N T S T T SO TOO T

Class 3 D CIaSS 4 6l 65 7 75 80 K3 91 95 160

3. Which is the best description of the distribution?

A. Bimodal
B. Symmetric
Skewed Left

D. Skewed Right

4, Which group has the GREATEST spread in the lower 25% of their data?

Group |
B.

Group 2 Min-> Q,

Group 1
C. Group 1 and Group 2 have the same spread l E}:} !
D. The spreads of Group 1 and Group 2 cannot be }__'::]:}______{ Group 2

determined :
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5. The number of points scored per basketball game for two teams throughout
the season has been recorded in the form of a box plot.
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Which team has the LOWEST median for points scored per basketball game?2
A. Team A has the lowest median.
Team B has the lowest median.
. Team A and Team B have the same median.
D. The medians for Team A and Team B cannot be determined.

6. Which set of data has the LOWEST mean? _ =8k Set B e e
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C. Sef A and Set B have the same mean, 7
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D. Set A and Set B have the same mean, 9




Mile 3: Two Way Frequency Tables
Directions: Complete the road blocks as a group. Correctly getting through them will advance your team one
mile. Check your answers with Ms. Walsh.

1. Age ~ Favoritec movie genre _
Comedy | Romantic comedy | Action Thriller
15 years old 8 14 (223) g |83
16 years old 13 16 18 5 52

4 106

\ 30 .
Ms. Rosenberg collects information about her students. She records students' favorite movie types in
the table and separates the responses by age. What percent of those surveyed are 15 year olds who
Eke action moviese

B. 42% 2
P
C. 55% ;05
D. 51%
2,
Chorus
Yes No Total
Yes 0.38 0.29 0.67
Band
No 0.09 (6.24) 0.33
Total 0.47 0.53 1.0

Gerry collected data and made a table of relative frequencies on the number of students who participate

in chorus and the number who participate in band.
Given that a student is not in chorus, what is the probability that he or she is also not in band?

A, 0.29

B. 0.38 Y
@0.45 et
D. 0.55 -§3

3. A group of students were polled to find out how many were planning to major in a scientific field of study in
college. The results of the poll are shown in the frequency table below.

Partl; Find the marginal frequencies (Fill in the chart) /

Part IIl: Out of the juniors, whatbpercent gre not planning fo study a
scientific field¢ (round to neorg;;en’rf} 0 g
20 - g8/

; 30
Part Ill: Out of the seniors, who@e pursuing a scientific field?
(round to nearest percent) ||"'2_
— = 3.
3l
Part IV: Whoi@ercen’r ?f those surveyed are juniors who do not want fo study science?
210 - .
| 5= B
Part V: Whafpercentef those surveyed are seniors who want to study science?
2 :
— = 17/

>



Mile 4: Line of Best Fit
Directions: Complete the road blocks as a group. Correctly getting through them will advance your team one
mile. Check your answers with Ms. Walsh.

y | Which linear function is a good fit for the data in the given table?

Iy X
1 6
2 12 y= Sx+ 2
3 | 15 S B =il
4 24 T0CyLas ﬂb’ ' e
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2 Which equation is the BEST fit for the data?
N, y=x+47
\B., y=x+39
C.y=-x+39
Qv+
oS ‘“‘”a 2”035 “?,_
3. Meal $5.65 | $4.34 | $13.07 | $23.13 | $7.95
Cost
Tip $0.70 | $0.80 | $2.50 | $4.00 | $1.25

Which equation is the best fit line to help a waiter predict how much of a tip he might receive?
)\y =0.12x +0.18

B,y =0.12x-0.18
C.y=0.18x+0.12

@ y=0.18x - 0.12

4. The data below represents the life expectancy of the population of a certain country from 1900 to 2000, based on
years of birth. Let the year 1900 be x = 0, and let x represent the number of years since 1900.
o (o 20 20 ) SO W 10 2% 9o 1®

1900 1910 1920 1930 1940 | 1950 | 1960 | 1970 | 1980 | 1990 | 2000

59.24 51.49 | 66.40 69.20 73.62 | 78.07 | 79.89 | 80.75 | 83.88 | 85.37 | 86.83

Part I: What is the best fitting linear line for the data? {round to the hundredths place)

2 . 3K +S1.9>

Part Il: Based on the data, what is the life éXpectancy for someone born in 20307

99.52



